Occurences

Cumulative frequencies

40

30

20

10

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

2—-AP_12300138269.1

Length distribution

+ strand (SE)

m - strand (SE)
B + strand (PE)

- strand (PE)

20

+ strand
- strand

o
)

o
@

90 —=—

o
=

80

C>T

100 —

110 —

130 —

Read lengt

I
o
S

h

180 —
190 —

+ strand
- strand

200 — =

210 —

220 —
230 —
240 —

G>A

250 —

260 —

270 —
280 —
290 —

Read position

50

60

Read position

50

60
70

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.1

Cumulative frequencies



